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subroutine nf_calculate(x, Yy, paran, vp)

C**‘k*‘k‘k‘k‘k****‘k******‘k*****‘k**‘k***‘k‘k*‘k*‘k‘k*‘k********i*1(

C

**k*‘k*******k**‘k*‘k‘k*‘k*‘k***

o This subroutine computes the integral from (-infinity) to z of
c a normalized Gaussian centered at 0: P(zz):lysqrt(2Pi)*exp(—zz/sqrt(2))A2
c

C‘k***‘k***********************‘k*************‘k*k**

implicit none

double precision x, xLocal, Y, param({*),
double precision z, answer, s2

double precision derfc

external derfc

data $2/1.41421356240/

z = (x - param(l) ) * param(2)
if(z.le.0.)goto 10
c-->z2>0
xLocal=z/s2
answer=1.- derfc(xLocal) /2.
- goto 50
10 continue

c-->z.1le.0
xLocal=-z/s2

| answer = derfc(xLocal) /2.
- 50 continue

yP = answer
- c print *, param(l), param(2)

c write(6,2) x,YP
- 2 format (1x,4el6.8)
return
end
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